1. 1

When the price of fresh fish increases 5%, quantity demanded decreases 10%. The price elasticity of demand for fresh fish is 

A) 


perfectly inelastic. 

B) 


elastic. 

C) 


inelastic. 

D) 


unitary elastic. 

Answer:  


B 

2. The ABC Computer Company wants to increase the quantity of computers it sells by 5%. If the price elasticity of demand is -2.5, the company must ________ price by _______.

A) 


increase; 2.0% 

B) 


decrease; 2.0% 

C) 


increase; 0.5% 

D) 


decrease; 0.5% 

Answer:  


B 

3.The government wants to reduce the consumption of electricity by 10%. The price elasticity of demand for electricity is -.4. The government should ________ the price of electricity by _____.

A) 


raise; 2.0% 

B) 


raise; 25.0% 

C) 


raise; 0.04% 

D) 


lower; 0.4% 

Answer:  


B 

4. Refer to the information provided in Figure 5.2 below to answer the questions that follow.
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Figure 5.2
1) 


Refer to Figure 5.2. Using the midpoint formula, if the price of a hamburger is increased from $8 to $10, the price elasticity of demand equals 

A) 


0.36. 

B) 


333. 

C) 


-2.5. 

D) 


-3.0. 

Answer:  


D 

2) 


Refer to Figure 5.2. Using the midpoint formula, if the price of a hamburger is increased from $6 to $8, the price elasticity of demand equals 

A) 


0.24. 

B) 


71.0. 

C) 


-1.4. 

D) 


-2.0. 

Answer:  


C 

3) 


Refer to Figure 5.2. Using the midpoint formula, if the price of a hamburger is increased from $2 to $4, the price elasticity of demand equals 

A) 


-0.33. 

B) 


-2.0. 

C) 


-3.0. 

D) 


-5.0. 

Answer:  


A 

4) 


Refer to Figure 5.2. At Point C the price elasticity of demand is -1. Along line segment BC of the demand curve, the demand is 

A) 


elastic. 

B) 


unitarily elastic. 

C) 


inelastic. 

D) 


either elastic or inelastic, depending on whether price increases or decreases. 

Answer:  


A 

5. Refer to the information provided in Figure 5.4 below to answer the questions that follow.
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Figure 5.4
1) 


Refer to Figure 5.4. The demand for milkshakes is unitarily elastic at Point C. If the price of a milkshake is reduced from P3 to P4, total revenue 

A) 


will increase. 

B) 


will decrease. 

C) 


will remain constant. 

D) 


could either increase or decrease. 

Answer:  


B

2) 


Refer to Figure 5.4. The demand for milkshakes is unitarily elastic at Point C. If the milkshake price falls from P1 to P2, total revenue will

A) 


increase. 

B) 


decrease. 

C) 


remain constant. 

D) 


either increase or decrease. 

Answer:  


A 

6. 


A firm is currently producing in the inelastic portion of its demand curve. What course of action should you recommend to this firm assuming it wants to raise revenue? 

A) 


Continue producing at the current output level, because the firm will maximize its total revenue by producing in the inelastic portion of its demand curve. 

B) 


Reduce price, because if demand is inelastic and price is reduced, total revenue will increase. 

C) 


Increase price, because if demand is inelastic and price is increased, total revenue will increase. 

D) 


Continue selling at the same price, but increase the number of units it produces. 

Answer:  


C 

7. 


The government is considering placing a tax on cigarettes to raise revenue to finance health care benefits. One of the arguments for this tax is that the demand for cigarettes is price inelastic. Which of the following statements is TRUE? 

A) 


The tax on cigarettes may not raise as much revenue as anticipated in the years to come because the demand for cigarettes is likely to become more elastic over time. 

B) 


This is a very good way to raise revenue both in the short term and in the long term because there are no substitutes for cigarettes. 

C) 


This tax will not raise much revenue either in the short term or the long term because demand is price inelastic. 

D) 


No tax revenue can be raised in this way because sellers of cigarettes will just lower their price by the amount of the tax and therefore the price of cigarettes to consumers will not change. 

Answer:  


A 

8. 


The more substitutes there are for a product, the

A) 


less price elastic the demand for the product is. 

B) 


more price elastic the demand for the product is. 

C) 


greater the income elasticity for the product. 

D) 


smaller the income elasticity for the product. 

Answer:  


B 

9. Refer to the information provided in Figure 5.5 below to answer the questions that follow.
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Figure 5.5
1) 


Refer to Figure 5.5. As the price of W increased, the demand for Y shifted from D1 to D2. The cross-price elasticity of demand between W and Y is 

A) 


positive. 

B) 


negative. 

C) 


zero. 

D) 


indeterminate from this information. 

Answer:  


A 

           10.


In output markets, the elasticity of supply tends to be 

A) 


negative. 

B) 


zero. 

C) 


positive. 

D) 


decreasing at an increasing rate. 

Answer:  


C 

11. 


Ted has $600 a week to spend on clothing and food. The price of clothing is $30 and the price of food is $5. The pairs of clothing and food that are in the Ted's choice set include _____ units of clothing and _______ units of food. 

A) 


20; 50 

B) 


10; 60 

C) 


10; 125 

D) 


0; 200 

Answer:  


B 

12. 


Jane has $500 a week to spend on food (f) and clothing (c). The price of food is $10 and the price of clothing is $25. What is the equation for Jane's budget constraint? 

A) 


Food + Clothing < $500 

B) 


$10 × Food + $25 × Clothing ≥ $500 

C) 


$10 × Food/$25 × Clothing = $500 

D) 


$10 × Food + $25 × Clothing = $500 

Answer:  


D 

13. Refer to the information provided in Figure 6.1 below to answer the questions that follow.
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Figure 6.1
1) 


Refer to Figure 6.1. Assume Tom is on budget constraint AC. If the price of a hamburger is $5, Tom's monthly income is 

A) 


$20. 

B) 


$60. 

C) 


$100. 

D) 


$300. 

Answer:  


C 

2) 


Refer to Figure 6.1. Assume Tom is on budget constraint AC. If the price of a hot dog is $2.50, Tom's monthly income is 

A) 


$40. 

B) 


$60. 

C) 


$80. 

D) 


$100. 

Answer:  


D 

3) 


Refer to Figure 6.1. The slope of budget constraint AC is 

A) 


-5.0. 

B) 


-2.0. 

C) 


-0.5. 

D) 


indeterminate from this information because prices are not given. 

Answer:  


B 

4) 


Refer to Figure 6.1. Assume Tom's budget constraint is AC. He does not spend his entire income at point 

A) 


A. 

B) 


B. 

C) 


D. 

D) 


E. 

Answer:  


D 

5) 


Refer to Figure 6.1. Assume Tom's budget is AC. Given his current monthly income he cannot purchase the bundle of goods at point

A) 


A. 

B) 


B. 

C) 


E. 

D) 


D. 

Answer:  


D 

6) 


Refer to Figure 6.1. Along budget constraint AC, the opportunity cost of one hamburger 

A) 


is 1/4 of a hot dog. 

B) 


is 1/2 of a hot dog. 

C) 


is 2 hot dogs. 

D) 


changes as you move down the budget constraint. 

Answer:  


C 

7) 


Refer to Figure 6.1. Tom's budget constraint is AC. His choice set includes all points

A) 


along budget constraint AC. 

B) 


bounded by the area OAC. 

C) 


to the right of budget constraint AC. 

D) 


along the vertical and horizontal axes. 

Answer:  


B 

8) 


Refer to Figure 6.1. AC represents Tom's budget constraint. Point D then represents a point that is

A) 


an available option, as Tom is just spending all of his income. 

B) 


available, but at which he does not spend all his income. 

C) 


not available because it represents a combination of hamburgers and hot dogs that he cannot purchase with his income. 

D) 


in his opportunity set but not on his budget constraint. 

Answer:  


C 

14. Refer to the information provided in Figure 6.6 below to answer the questions that follow.
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Figure 6.6
1) 


Refer to Figure 6.6. Bill's budget constraint was originally CD. If his new budget constraint is EF, then his income

A) 


increased. 

B) 


decreased. 

C) 


increased and the price of black beans decreased. 

D) 


decreased and the price of black beans increased. 

Answer:  


A 

2) 


Refer to Figure 6.6. Bill's budget constraint is BD. If the price of bell peppers increases, Bill's new budget constraint is 

A) 


AD. 

B) 


AO. 

C) 


CD. 

D) 


EF. 

Answer:  


A 

3) 


Refer to Figure 6.6. Bill's budget constraint is BD. Bill's income is $800, the price of a bell pepper is $1, and the price of a bag of black beans is $1. At Point B Bill is buying __________ bell peppers and __________ bags of black beans. 

A) 


800; 0 

B) 


0; 800 

C) 


400; 400 

D) 


600; 200 

Answer:  


A 

15. 


The Wax Works sells 400 candles at a price of $10 per candle. The Wax Works' total costs for producing 400 candles are $500. The Wax Works' economic profit is 

A) 


$100. 

B) 


$3,500. 

C) 


$4,500. 

D) 


indeterminate from this information. 

Answer:  


D

16.

Economic costs 

A) 


include both a normal rate of return on investment and the opportunity cost of each factor of production. 

B) 


are equal to the direct costs of hiring all factors of production. 

C) 


are the opportunity cost of each factor of production minus any interest charges paid on borrowed funds. 

D) 


are equal to total revenue minus accounting profit. 

Answer:  


A 

17. 


If economic profit is zero, a firm

A) 


earns a negative rate of return. 

B) 


will leave the industry. 

C) 


earns a positive but below normal rate of return. 

D) 


earns exactly a normal rate of return. 

Answer:  


D 

18. Refer to the information provided in Scenario 1 below to answer the questions that follow.
SCENARIO 1: You are the owner and only employee of a company that writes computer software that is used by gamblers to collect sports data. Last year you earned a total revenue of $90,000. Your costs for equipment, rent, and supplies were $60,000. To start this business you invested an amount of your own capital that could pay you a return of $40,000 a year.

1) 


Refer to Scenario 1. During the year your economic costs were 

A) 


$40,000. 

B) 


$60,000. 

C) 


$100,000. 

D) 


$130,000. 

Answer:  


C 

2) 


Refer to Scenario 1. A yearly normal rate of return for your computer software firm would be 

A) 


$20,000. 

B) 


$40,000. 

C) 


$60,000. 

D) 


$100,000. 

Answer:  


B 

3) 


Refer to Scenario 1. Your accounting profit last year was 

A) 


$10,000. 

B) 


$30,000. 

C) 


$50,000. 

D) 


$60,000. 

Answer:  


B 

4) 


Refer to Scenario 1. Your economic profit last year was 

A) 


-$40,000. 

B) 


-$10,000. 

C) 


$10,000. 

D) 


$30,000. 

Answer:  


B 

19. 


Amy spends $5,000 on remodeling a storefront that she then opens as a take-out deli. Business has not been very successful, and she needs an additional $1,000 to keep the deli open. Which of the following is TRUE? 

A) 


The $5,000 Amy spent on remodeling represents a part of the total variable cost of her business. 

B) 


The $5,000 Amy spent is a fixed cost of her business. 

C) 


The $1,000 represents her marginal costs of production. 

D) 


The $1,000 Amy needs to keep the deli open represents her total fixed costs. 

Answer:  


B 

20. Refer to the information provided in Figure 8.2 below to answer the questions that follow.
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Figure 8.2

1) 


Refer to Figure 8.2 above. The total fixed costs for The Barber Shop are $3,000. If The Barber Shop produces 300 hair cuts, the average fixed costs are 

A) 


$.20. 

B) 


$5. 

C) 


$10. 

D) 


$100. 

Answer:  


C 

21. 


As output increases, average fixed costs 

A) 


decrease. 

B) 


initially decrease and then increase. 

C) 


remain constant. 

D) 


increase. 

Answer:  


A 

22. Refer to the information provided in Figure 8.3 below to answer the questions that follow.
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Figure 8.3
35) 


Refer to Figure 8.3. The marginal cost of the 10th basketball is 

A) 


$2. 

B) 


$3. 

C) 


$3.05. 

D) 


$5.80. 

Answer:  


